(3x = 6y)? = Aot ax? + bxy + cy? °lth. oW, F<a, b, c 9
gra+b+c o ghe?

D1 @ 3 ® 5 @ 7 ®)9

(3x)?=2x3xx6y+(~6y)? = 9x? ~36xy+36y* O| B2 a+b+c =
9+ (~36) +36 =9
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4. xy-a)-y+a 2 vrEA] A5 ALY

® (x+1)(y+a) @ (x+1)y-a) ® (x-1)(y+a)
@x-Dy-a)  © (1-x+y)

x(y—a)-y+a=x(y-a)-(y-a)
=x-1)(-a
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@ V20 - V45 + V80 = -5 + V10
© VIZ+ VI8 + V27— V75 =4V3
© V32- VIS+ V3- VA8 = v2-3+3
5 30
® G Ve P
® VIZ- V5- 2 =245
V5
> E:
> E:
> HED O
> e ©

B

@ V20— V45 + V80 =2V5-3V5+ 45 =35

O V12 + V48 + V27— 75
=2V3+4V3+3V3-5V3=4V3

©4V2-3V2+ V3-4V3=v2-33
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